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STEIETE Week 12 : Assignment 12

course work? Due on 2021-10-20, 23:59 IST.

As per our records you have not submitted this assignment.

Week 0 . 2 noln?
. nes
" Pick up the correct statement. .
Week 1 . .
(A) Heat of formation of all 1ons = 0.
Week 2 : : :
(B) Heat of formation value of all ions depend on the assumption AH F°5" =0
Week 3 (C) Heat of formation value of all 1ons depend on the assumption AH F°or =0
Week 4 (D) Heat of formation value of all cations = 0.
Week 5 A)
B)
Week 6
C)
Week 7 O}
MNo, the answer is incorrect.
Week 8 Score: 0
Accepted Answers:
Week 9 5
Week 10 ) Real solution: £paints
Week 11 (A) Follow van der walls equation of state.
R (B) All iquad-liquid solutions are real solution.
(C) There 1s change 1n enthalpy of system due to dissolution/mixing.
@ Lecture 56 : Energy Balance
with Chemical Reactions - VI (D) There is no thermal effect of mixing.
® Lecture 57 : Humidity &
Psychrometric Chart - | A)
@ Lecture 58 : Humidity & B)
Psychrometric Chart - | c)
® Lecture 59 : Humidity & D)
Psychrometric Chart - Il
MNo, the answer is incorrect.
@ Lecture 60 : Humidity & Score: 0
Psychrometric Chart - IV Accepted Answers:
C
® Week 12 Lecture Material .
Quiz: Week 12 : Assignment 3 \ . 2 points
12 ? : Find the odd entity. po
® Week 12 Feedback Form (A) Heat of mixing
Download Videos (B) Heat of solution
(C) Heat of dissolution
Detailed Assignment Solution
(D) Heat of formation
Live Interactive session
A)
B)
C)
D)
MNo, the answer is incorrect.
Score: 0
Accepted Answers:
D)
8 .. . . . 2 points
The necessary condition for a solute to dissolve in a solvent is;
(A) The strength of the adhesive interaction of more than the strength of cohesive
interaction.
(B) The strength of cohesive mteraction 1s more than the strength of adhesive interaction.
(C) The intermolecular space of solvent molecules 1s large as compared to the size.
(D) The density of solvent must be higher than that of solute.
A)
B
C)
D)
MNo, the answer is incorrect.
Score: 0
Accepted Answers:
Al
5) 2 points
In weather forecast,
(A) Absolute humidity 1s most commonly used.
(B) Relative humidity 1s most commonly used.
(C) Specific humidity of most commonly used.
(D) Any one humidity parameter listed above 1s used.
A)
B
C)
D)
No, the answer is incorrect.
Score: 0
Accepted Answers:
B
E} L L L] L3 * L] 2 mfﬂtﬁ
If moist air has 6% specific humidity, it would mean:
(A) 6 kg of water vapor 1s present in 100 kg of moist air.
(B) 6 kg of water vapor 1s present in 94 kg of bone-dry air.
(C) 6 kg of water vapor 1s present in 106 kg of moist air.
(D) 6 kg of water vapor 1s present in 106 kg of bone-dry air.
A)
B)
C)
D)
Mo, the answer is incorrect.
Score: 0
Accepted Answers:
C)
?} " L) " " L) " L) " 2 mfﬂtﬁ
The relation between specific humidity (H) and molar specific humidity (Hp) is:
29
(A) Hyp = o
18
(B) Hp=—H
29
(C:} HE‘P = H
29
I::D} H=— Hsp
18
A)
B)
C)
D)
MNo, the answer is incorrect.
Score: 0
Accepted Answers:
Al
8) . . . . . 2 points
Pick up the correct option. For Air with same moisture content.
(A) Wet bulb temperature mncreases with increase in % RH.
(B) Wet bulb temperature 1s also same.
(C) Wet bulb temperature decreases with inerease i % RH.
(D) % BPH must be the same.
A)
B
C)
D)
No, the answer is incorrect.
Score: 0
Accepted Answers:
c)
9) . . . . . 2 points
The wet bulb temperature of humid air with 30% RH and moisture content 0.024 is
(A) 304 °C
(B) 35.0°C
(C) 28.5°C
(D) 32.6°C
A)
B
C)
D)
No, the answer is incorrect.
Score: 0
Accepted Answers:
D)
10) 2 points

Humidity volume of air with wet bulb temp = 41 C and moisture content 0.036 is:
(A) 1.05 m’/kg dry air

(B) 1.0 m*/kg dry air

(C) -5.0KJTkg

(D) 0.9834 m’/kg dry air

A)
B)
C)
D)

No, the answer is incorrect.
Score: 0

Accepted Answers:
A



